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UNIVERSIDAD ESTATAL A DISTANCIA

VICERRECTORIA ACADEMICA

ESCUELA DE CIENCIAS SOCIALES Y HUMANIDADES

CÁTEDRA DE INGLÉS TÉCNICO
EXAMEN DIAGNOSTICO: INGLÉS PARA INFORMÁTICA

CODIGO 0997
Estimado estudiante;

La Cátedra de Inglés Técnico tiene el agrado de invitarle a realizar el siguiente examen comprobatorio de nivel de idioma para la materia de Inglés para Informática, código 0997, ubicado en el bloque I del nivel de Diplomado en Informática, y en el bloque G del nivel de Bachillerato en Informática Educativa. 
Este curso pertenece al área de Inglés con Fines Específicos, en donde se combina la enseñanza del idioma (estructuras gramaticales, vocabulario, estrategias de lectura y redacción en el idioma meta) con el contenido propio de una especialidad en particular.  En otras palabras, el aprendizaje del idioma inglés está relacionado con el contenido por medio de temas y tópicos de disciplinas y ocupaciones particulares. Por ende, las estructuras lingüísticas estarán basadas en el lenguaje que se ajuste a la disciplina de la computación e informática, así como al análisis del discurso en cuanto a sintaxis, léxico, discurso, semántica, etc. 
Se debe advertir, sin embargo, que la mayoría de estos cursos suponen un buen conocimiento del inglés. De ahí, que esta materia particularmente requiere el nivel intermedio de dominio de la lengua inglesa.

Para potenciar lo descrito anteriormente, y a la vez, facilitar su aprendizaje se ha diseñado el siguiente examen comprobatorio de idioma. Éste tiene como fin primordial el medir el nivel de dominio del idioma inglés en las destrezas de lectura y vocabulario con énfasis en inglés, en un contexto de computación e informática.

Este examen es de carácter opcional y no determinará su oportunidad de matrícula. Es por el contrario un instrumento para auto-evaluar su conocimiento en el idioma; así como, un ejemplo de los contenidos del curso. Por tales razones, se sugiere realizarlo tan real como le sea posible: de forma individual, sin la ayuda de un diccionario (ya que en los exámenes del curso no es permitido); así como, revisar las respuestas hasta el final de la prueba.
Este examen está conformada por partes: El total de puntos es de 115 y el número de páginas 18. De ahí, que dependiendo del total de puntos que se obtenga su nivel se clasificará en: 

	Número de puntos obtenidos
	Nivel alcanzado

	0-14
	Básico 

	15-30
	Básico Intermedio

	31-49
	Básico Alto

	50-67
	Intermedio Bajo

	68-87
	Intermedio 

	88-90
	Intermedio Alto*** (Nivel deseado)

	100-115
	Avanzado


Si tiene alguna duda o comentario sobre esta prueba, le exhorto comunicarse a la Cátedra de Inglés Técnico  al 2527-2497 ó por medio de correo electrónico a la dirección mochacon@uned.ac.cr 

PART I 

READING COMPREHENSION 
TOTAL POINTS 30
Instructions: Read each text carefully. Then, answer the corresponding questions
A. Instructions: Choose the best answer for each proposition by writing an X over the letter with the correct answer. (1 point each correct answer)
1. The main idea of the previous text is that _____.
a) miniature computer implements have changed the way things are carried out

b) intelligent computers satisfy individual needs 

c) computer are helpful to people

2. Since computers devices are more complex, many machines and devices _____.
a) require more human supervision

b) work slower and more deficient

c) are self-sufficient 

3. Small computers devices have transformed _____.
a) not only scientific research but also consumer products

b) both Educational and scientific research

c) only scientific research products
4. People in _____have taken advantage of electronic classrooms and boardrooms.

a) distance learning education
b) in faraway places

c) in the city

5. The word “handheld” in the sentence “Workers use handheld computing devices” works as _____.
a) an adjective
b) a noun

c) a verb

6. One advantage of smart computing devices is that people can _____.
a) control their VCRs easily

b) work on creative tasks

c) store vital information

7. Life has become easier and more pleasant because smart machines _____.
a) assume the performance of people’s basic chores

b) are smaller than in the past
c) perform as people do

8. The meaning of the phrase “to better meet individual needs” in the sentence

“Smart phones, cars, and appliances with built in computers can be programmed to better meet individual needs” means that _____.
a) the programs can be customized to each person’s needs

b) people’s needs are better met with these appliances
c) the appliances are made for individual uses

9. The –ing word in the following sentence functions as _____.
“controlling the flow of information in an organization”

a) adverb

b) verb

c) noun
10. The “interactive connectivity” referring in the following line is about _____.
“The information superhighway is designed to significantly expand this interactive connectivity”
a) video conferencing 

b) email exchanging
c) vast databases

11. The word “safer” functions as _____.
a) adjective

b) adverb

c) verb

12. The –ing ending in the following word functions as _____.
“…devices available for performing smart tasks”
a) complement of subject 

b) object of a preposition

c) subject of a verb


B. Instructions: Choose the best answer for each proposition by writing an X over the letter with the correct answer. (1 point each correct answer)

13. The other name for a supervisor program is _____.
a) nonresident

b) software

c) resident

14. Apart from the operating system, the kind of software a computer needs the ____ to work.

a) applications software package

b) central processing unit

c) hidden software

15. The relative pronoun in the following sentence is _____.

“An operating system is a set of program that lies”

a) system

b) that

c) an

16. The following phrase is an example of _______ adjective.

“The most important “

a) demonstrative

b) comparative

c) superlative

17. The input and output operations are performed by the _____.
a) applications programs

b) operating system

c) disk storage unit
18. The word that contains two suffixes is _____.
a) applications

b) actually 

c) details

19. The final –s sound in the word “functions” is _____.
a) /iz/

b) /s/

c) /z/

20. One output computer’s resource is the _____.

a) disk drives
b) memory 

c) printers
	Text #3 How to Become an IT Manager

IT manager manage projects, technology and people. Any large organization will have at least one IT manager responsible for ensuring that everyone who actually needs a PC has one and it works properly. This means taking responsibility for the maintenance of servers and the installation of new software, and for staffing a help-desk and support group.

Medium to large companies are also likely to have an IT systems manager. They are responsible for developing and implementing computer software that supports the operations of the business. They’re responsible for multiple development support of the systems. Companies will have two of three major systems that are probably bought off the shelf and then tailored by an in-house development team.

Apart from basic hardware and software expertise, an IT manager will typically have over five years’ experience in the industry. Most are between 30 and 45. Since IT managers have to take responsibility for budgets and for staff, employers look for both of these factors in any potential recruit.

Nearly all IT managers have at least a first degree if not a second one as well. Interestingly, many of them don’t have degrees in computing science. In any case, the best qualification for becoming a manager is experience. If your personality is such that you’re unlikely to be asked to take responsibility for a small team or a project, then you can forget being an IT manager. You need to be bright, communicative and be able to earn the trust of your teams. Most of this can’t be taught, so if you don’t have these skills then divert your career elsewhere.

Adapted from Information Technology by Oxford English
	Line 8
Line 12


C. Instructions: Choose the best answer for each proposition by writing an X over the letter with the correct answer. (1 point each correct answer)

21. A desired personality trait in an IT manager is being _____.
a) unreliable 

b) liable

c) old
22. The expression “off the shelf” means _____.

a) ready made for purchase
b) custom-made
c) very cheap

23. The minimum number of IT managers in a company is _____.

a) 5

b) 3

c) 1

24. In line 12, the word “most” refers to _____.
a) years’ experience

b) IT managers

c) 30 and 45

25. The relative pronoun in the following phrase is _____.

“everyone who actually needs a PC has one”

a) everyone

b) actually

c) who
26. The text suggests that unless you have the required skills you should____.

a) apply for an IT manager position

b) change your career option

c) learn them at college

27. The word “they” in line 8 refers to _____.
a) medium to large companies

b) major systems
c) IT managers

28. IT managers must have _____ as part of their qualifications.
a) two or more college degrees

b) a computer science degree

c) a first college degree

29. Employers ask IT managers to be in their late 30s and to have _____.

a) years of experience
b) a potential recruit 

c) budgets and staff

30. The number of suffixes in the word “personality” is _____.

a) 3

b) 2

c) 1

PART II 


MULTIPLE CHOICE 

TOTAL POINTS 30
A. Instructions: Read each statement carefully. Select the answer that contains the correct answer by writing an X over the letter. (1 point each correct answer)

1. The processor chip that performs the basic operations of a computer; like the brain of the computer is called _____.

a) central processing unit

b) software

c) ports

2. Another expression for a file of structure data is _____.

a) processor

b) database

c) server

3. An electronic machine which can accept and process data in certain form; as well as, give the results of the processing in a specified format is called ____.

a) Blackberry

b) mainframe

c) computer

4. The arithmetic logic unit (ALU) is a ______.
a) high level programming language to develop mathematical applications

b) CPU component that performs logical operations asked for a program

c) software and sometimes special purpose hardware

5. A disadvantage of the RAM chips is that _____.

a) information is lost when the computer is turn off

b) added chips create a dual in-line memory

c) they are non-volatile

6. The amount of data that can be transmitted is determined by _____.

a) CPU capacity

b) ROM chips

c) bus width

7. The following figure 01000011 represents a _____.
a) Terabyte

b) Megabyte

c) Byte

8. The code made of just two numbers that computers employ is called _____code.

a) binary

b) byte 

c) bar

9. An input device which allows the user to enter drawings and sketches into a computer is called _____.

a) graphics tablet

b) Frontpage
c) DivX
10. A trackball device is similar to a _____.

a) monitor screen

b) USB port

c) mouse

11. In a keyboard, the name of the keys used to issue commands or to produce alternative characters is called _____.

a) alphanumeric

b) dedicated

c) function

12. Desktop displays and portable devices use _____technology.

a) Liquid Cristal Display

b) Blu-ray

c) nano

13. Two measurements that describe the size of any display are the screen size and _____.

a) TFT technology

b) aspect ratio

c) VGA cable

14. Resolution contained in a display refers to the number of _____.

a) colors
b) OLEDs

c) pixels

15. The study of how people interact safely and efficiently with machines and their work conditions is named _____.

a) ergonomics

b) netiquette

c) security

16. Dot-matrix; Inkjet, Laser and Thermal transfer are types of _____.

a) screens

b) printers

c) CPUs

17. The textphones are devices especially used for _____people.

a) blind

b) deaf

c) mute

18. A _____ drive uses 3.5” disks. These disks are becoming increasingly rare.

a) magnetic

b) floppy

c) hard

19. To format a disk means to_____.

a) leave specific marks on a disk

b) erase all stored information

c) prepare a disk for use

20. The type of printer used for construction plans and engineering drawings is _____.

a) imagesetter

b) platesetter

c) plotter

21. The type of discs that can store data at much higher densities are _____.

a) magnetic

b) optical

c) CD

22. Two examples of operating systems are _____.

a) Mac Os and Applets

b) A+ and Palm Os

c) RIM and Linux

23. Parts of a spreadsheet are column, cell and _____.

a) Carbon Copy

b) value

c) row

24. The abbreviation of the phrase Digital Versatile Disc is _____.

a) DVeD

b) DVD

c) .VD

25. A type of non-volatile memory that can be electronically erased and reprogrammed is named _____.

a) NAND
b) flash

c) RAM

26. The internet service that allows users to interact in an internet virtual environment developed from a multi-user adventure game is called _____.

a) Usenet

b) MOO

c) FTP

27. The underlined part of the following address is called _____.
http://www.hw.ac.uk/libWWW/irn/irn.html

a) domain name extension

b) protocol prefix

c) domain 

28. In the following sentence, the word “outperform” means to _____.

“Apple is developing a new cell phone in an attempt to outperform its competitor Motorola.”
a) remove from the top position

b) survive longer than

c) do better than

29. The company’s company is broken. Someone has _____ an illegal operating system into the memory.

a) triggered

b) detected

c) booted 

30. In this case, the word “parse” (parsing) means to _____.

The main frame is in charge of parsing the users’ queries.

a) analyze the syntax of a string of input symbols

b) allow users to read messages left by others
c) request a search

B. Instructions: Read the following cellphone specifications and choose the comparative or the superlative form of the adjectives that best fits each proposition. (1 point each correct answer)

	Nokia C6
	Samsung T749 Highlight
	LG GW520

	Dimensions: 113 x 53 x 16.8 mm

Screen Size: 360 x 640 pixels

Weight: 150 gr

Camera Information: 5 Megapixels

Memory: 

- 240 MB internal memory

Battery

Talk Time: Up to 7 hours
Price $700
	Dimensions: 108 x 54 x 13.7 mm

Screen Size: 240 x 400 pixels

Weight: 105 gr

Camera Information:  3.15 Megapixels

Memory: 

- 150 MB internal memory
Battery

Talk Time: Up to 6.5 hours

Price $500
	Dimensions: 106.5 x 53 x 15.9 mm

Screen Size: 240 x 400 pixels

Weight: 125.5 gr

Camera Information: 3.15 Megapixels
Memory: 

- 40 MB internal memory

Battery

Talk Time: Up to 5 hours

Price $ 275


31. The Nokia C6 is __________ than the LG GW520.
a) bigger


b) smaller 


c) the smallest
32. The ________ cellphone is Nokia C6. 
a) cheapest


b) more expensive

c) most expensive


33. The LG GW520 is ________ than the Samsung T749 highlight.

a) the lightest

b) lighter


c) heavier 

34. The Samsung T749 is ________ than the Nokia C6

a) bigger


b) smaller 


c) taller
35. The LG GW520 screen is ________ the Samsung T749 highlight screen.
a) as large as 

b) larger than

c) as small as
36. Someone can talk ________ than 6.5 with the Samsung T749 highlight.

a) more


b) less


c) equal
37. The Nokia C6 battery lasts ________ than the LG GW520 battery.

a) as much


b) longer


c) shorter
38. The LG GW520 battery does not last ________ the Samsung T749 highlight battery.

a) little


b) a lot


c) as much as

39. The Nokia C6 screen is ________ than the LG GW520 screen.

a) bigger


b) larger


c) enormous 
40. Someone cannot talk ________ than 7 hours with the Nokia C6.

a) more


b) less


c) equal
41. LG GW520 memory is the _________ of them all.

a) shortest 


b) smallest


c) biggest



42. The Samsung T749 highlight camera has as _________ megapixels as LG GW520.

a) some


b) much


c) many

43. The Samsung T749 highlight is _______ than the Nokia C6.

a) thicker


b) lighter


c) heavier 

44. The _______ cellphone is LG GW520.

a) most inexpensive
b) most expensive

c) cheapest
45. The Samsung T749 highlight is ________ than Nokia C6. 
a) more expensive

b) cheaper


c) more costly 
PART III


 IDENTIFICATION 


TOTAL POINTS 40
A. Instructions: Read each of the following words carefully. Then, sort them out in the corresponding categories. No words should be used twice or left out. (1 point each correct answer)
	Hopefully
	National
	Development 
	Hacker 
	Wealthy 
	Sensible

	Innovator 
	Phonetic
	Misery  
	Action 
	Comprehension
	Rapidly 

	Joyful
	Certainly
	Wireless
	Capable
	Analogy
	Gifted 

	Understanding
	
	
	Procedure
	Sharpness
	Active


	NOUNS
	ADJECTIVES
	ADVERBS

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	


B. Instructions: Read each of the following connectors carefully. Then, sort them out in the corresponding categories. No words should be used twice or left out. (1 point each correct answer)
	*And
	*Such as
	*Then
	*So
	*To begin with
	*For instance

	*Besides
	*Including
	*Since 
	*Moreover
	*But 
	*Thus

	*Consequently
	*However
	*Next
	*Whereas
	*As  
	*Because


	Giving examples
	Listing/ sequencing
	Giving reason/ cause
	Indicating addition
	Making contrast
	Explaining the results

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	


Text #1 Computers Make the World Smaller and Smarter


The ability of tiny computing devices to control complex operations has transformed the way many tasks are performed, ranging from scientific research to producing consumer products. Tiny “computers on a chip” are used in medical equipment, home appliances, cars and toys. Workers use handheld computing devices to collect data at a customer site, to generate forms, to control inventory, and to serve as desktop organizers.


Not only in computing equipment getting smaller, it is getting more sophisticated.  Computers are part of many machines and devices that once required continual human supervision and control. Today, computers in security systems result in safer environments, computers in cars improve energy efficiency and computers in phones provide features such as call forwarding, call monitoring, and call answering.


These smart machines are designed to take over some of the basic tasks previously performed by people; by so doing, they make life a little easier and little more pleasant. Smart cards store vital information such as health records, drivers’ licenses, bank balances, and so on. Smart phones, cars, and appliances with built in computers can be programmed to better meet individual needs. A smart house has a built-in monitoring system that can turn lights on and off, open and close windows, operate the oven, and more.


With small computing devices available for performing smart tasks like cooking dinner, programming the VCR, and controlling the flow of information in an organization, people are able to spend more time doing what they often do best—being creative. Computers can help people work more creatively.


Now that computers are proliferating in many areas and networks are available for people to access data and communicate with others. For example, distance learning and video conferencing are concepts made possible with the use of an electronic classroom or boardroom accessible to people in remote locations. Vast databases of information are currently available to users of the Internet, all of whom can send mail messages to each other. The information superhighway is designed to significantly expand this interactive connectivity so that people all over the world will have free access to all these resources.


Adapted from Information Technology by Oxford English





Text #2 Operating Systems: Hidden Software


When a brand new computer comes off the factory assembly line, it can do nothing. The hardware needs software to make it work. Are we talking about application software such as word-processing or spreadsheet software? Partly. But an applications software package does not communicate directly with the hardware. Between the applications software and the hardware is a software interface—an operating system. An operating system is a set of program that lies between applications software and the computer hardware.


The most important program in the operating system, the program that manages the operating system, is the supervisor program, most of which remains in memory and is thus referred to as resident. The supervisor controls the entire operating system and loads into memory other operating system programs (called nonresident) from disk storage only as needed.


An operating system has three main functions: 1. manage the computer’s resources, such as the central processing unit, memory, disk drives, and printers; 2. establish a user interface; and 3. execute and provide services for applications software. Keep in mind, however, that much of the work of an operating system is hidden from the user. In particular, the first listed function, managing the computer’s resources, is taken care of without the user being aware of the details.


Furthermore, all input and output operations; although invoked by an applications programs, are actually carried out by the operating system.


Adapted from Information Technology by Oxford English
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